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utphhurhhplr h urnppunlnpatrlhhplr phpurgb\ lnlrnqDtil h qurhrqurLmrlAn4rlub a2s2l,npfg 2s000

37420000 Llurprlhullurgqntplurh uurpptplr rltpu:lurpnqntil rLtJA rlpuril 25000 25000 1



- --r-- - tqu. ulluqlrl
446000

uulFurrrPlruP
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230000

70000
3019753 1 9=.p/ 44 $npriulnfr (21x29.7)

-LU4 urnr{r 2300 20100 9
30t92740 G::ul: qnr-hunlnp, 44 d.trurlullrlr nnu]r 2600 23400 9
30797237 Lo:llurulrutrLu 

Q ulntrilhFurlfrh prurlurtrp, pLu1l hruur 15 180 72
30L9J232 Gilaurqruhur\ /ruJnuqur\r,up, pqp.;ru hruur 80 960 12
30197233 Gryaurulurhur\ /plpt, phlnrl huru 100 s00 5
30197234 faqlaruuiluhur\ /plPuru+utlu\ \"2- \urqilntl trQUZ hurur 1000 1000 1
30L99232 Onun/rfhb, Aa $nprlururfr hurlr.up ACUZ hurr.n 60 600 10
30192t27 eph2/qh4lr\uqnp

hurur 100 1000 10
30t92128 +plr2/qt1ullrL trcu2 hruur 150 750 5
30199420 flnrrga h2nr-rftrtplr hulftup /unuhd.r.l r-ubpnr.l rLu4 urnr-r,|r 200 400 2
30199430 tJ2nr-rltr hnF fdnLrLIa/trlpgu!trhpn{ r,nnr-rf 300 900 3
39263200 QFruuhtrlru\urlbh qlrpp, rfturnl ruLr trcu2 hurn 1000 1000 1
30197327 9uplr2 (uurtqltp) trcuz hurur 1.700 1700 1
30192710 Unuhd.urdrunfru, qpurutLlu\ urlfrL rLu4 hr.uur 2s0

900

500 2
392533 10 Olurgnr-1g uhqurtrlr trcu2 huln 900 l-
30L92720 9burh2|r2 (ilurp\tp) trcu2 hrur,r 250 7250 5
30192136 u tutnfrn qpur+Irrnh rnh4u4lrrlDq rJhqnrLrnr.l trcu2 hurr.n 200 3000 15
30L92L37 Uuln]rur qpru$frnt ilfr2nr\nr.l trQU2 hrur-n 100 1900 19
3019711 1 Yruf FLF Lt tlrlullr.u}ult lruq Llr/ rlrnpp trQUZ urnr-rlr 100 900 9
392925t0 €rutrnh ,qluruurlr\ FCU2 huun 350 700 2
301921 14 lu1uurup, qufpF Furpdfrl1fr huLirup trCUZ hur.n 2s0 250 1
392635 10 Uhliluq (l.liJrutu)/ rlrnBp trcuz hur,n 25 500 20
39263520 Utlilu! (\firqu)/ rlhplrtr trcu2 hur,n 40 400 1-0
39263530 Uhqrlu:\ (\Dqu)/ rltt rLu4 hurur 60 600 10
30192 100 Otrnlih hLuuurpru\ trcu2 huru 100 500 q

30192750 SLnriuruu t pl.rtplr hullurprubnr rLu4 urnufr 600 600 1
30L92760 Upfr2, unr{npru\rutr CNII) hunn 150 750 5
3019733 1 qFr Purrrnunq trcuz hruur 2200 2200 l-
3019923 1 Luilur\h bFup AS d.trLululfrlr FCUZ huru 40 800 20
3924t270 UllPuln/ qpurubl_r1 ru11ur1 f h trcu2 hurr.n 250 250 1228tL730 Shurp 2a 12 enrrt hunn 2s0 250 1
22811130 Sturp12 12 hurtn 30 60 2
30192160 Fr.uqu:rln urht nrp/ 

2 np]rlu FQUZ hurur 120 600 5
gur_{ur;Iru u nuunurlFU uh\fr blnrphn/hrL+r]ub  267l ho 80000

39831241 trcuz hr-urn 260 3900 15
39836000 T I,]L,*.1J1

hurut 750 3750 5
337 6 1000 9nrqu-nurlh pnup/ nnr-1nLrr{ FCU: hurut 100 8000 80
39224331 tlnt' 

. nu:'/ n-r r. ..r...-.r.-'irrrrrrr.rhr
htur.n 600 3000 5

39224332 't.. Ju:.Iu,/ rytlt L 
q rL !'u :1..:.rur

-l'j-I 13C 0 6 5C0 5
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::11.:,1 ?rurlplnr-q (-tp-l\rL) / rlhururryru trcuz hurtn 16C 0

395 132 00 Gryat, ubdtnngh\ trcu2 hurtn IU)

1964 1000 'tln[r\af ltbul frtr urnqpur\Ltp, ulup\/ ruqp]r hutlurp FCU2 hr.uur 10

39855000 2ulnur\ rlurppnl drrrl FQUZ hrurn 1000

3983 1261 Odurnfr rnurpur/ Odrunlr rnnrr.|r FCUZ hr.ur-n 2sa

39831244 Odurn / urhurtuur\urh FCUZ hrurn 150 3i

39839 100
anqrupfur\ (uu{n\) /Uqp hu{uphgnr- hullurp
 nnnlt /I rLr nrrrnrilI trQUZ hunn 1400 840C c

39839200
Qnqruplnu\ (uul{n\ ) /Urp hrurlruphlnr hurilurp
Ann nr] /'IIr uruuriluruurr hq

trcu2 hurrn 130 780 6

398 1 1 300 2.nuuu qr.nfr2 ( 4hqn4np ) hurur 370 370 1

398 124 10 Irruhnrlpfr {u1thgiluh ilf2ng trcuz hurur 600 3000 5

39831277 Uqnrtrq/ Uurhfrururpruhttqtlrh\ L2urhurllnr-p1 urtr trQUZ hurur 50 750 ff

39831272 Uulnr-hq/ Urftutr flrupr trQUZ hu-rr,n 30 450 tf

398 38000 Urltlqnquipfnuqf htn/ hr.uur 1400 1400 L

39831247 I-rl-Sph $n2f d.tnpn{ $urhurlnr hurr.Iurp NNTT' \q 880 2640 3

395 14100 Frurfpur\1ur {u$ltLiluh fuullnu upplrlrtp 1-rurur 1 500 7500 5

39s 22330 lururr.u\ rftupptpr 2np huru 750 5250 7

39s2 2330 Uurppnq \urnptrtp urnr$ 150 6000 40

2unnnr\ hqulnur\ur1 |rh ur1 1 h3 mphp/hn4r{urb 4 2 69/, np}g 80000

185311.00 u{tpbtp h qurpqhtrhp trcuz 4purrl 80000 80000 I
Ournulmplnr-hhtp 216000

Qt4hubrrrp pbat: fub brunurl ntpl nrLhtp/hn4rlurb a2 3 9/, nplrg 215000

98341 140 nruhqurhnrp; r.utr br.unurl nrpl nr-h trQUZ urrlhu 18000 2 16000 12

Upu qlrpp_2rulr.uqurL.r \npgpub ubd.f bp

trurd[L 10 ]umrlp 3 riuru 1bpurqbp 51 150000

OrunurlnrplntLhtp 150000

Znulurp\u:rlnpnrpl urL hquruurLtp p1 nr2h1 | g /hr4rlurb a 7 2 6 / q?'t 4.Jru.u.l 1 50000 1 50000

Upurqlrpp_ Ung.bpurqbp Su2bp

trudfL 10 lunrilp 3 qruu 1 bpuqlrp 51 , 100s000

Uurnurlntplnrhhtp 100s000

U11 lrquuurLtp p3nr2t1f g /hna{ub a7 29 Lnylg 100s000

753 10000 -qurur.ntrhplr br.unrulnr-plnrLhtp q?n 4lnuil 1-005000 1005000 I

CL4rurIhtrp L5425762Q


